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1. Select the most appropriate ANTONYM of
the given word.

Emerge
(A)  Vanish
(B) Appear
(C) Surface
(D) Lose

2. Select the most appropriate option to fill in
the blank.

The teacher asked us to write our answers------ .

(A) laughably

(B) latently
(C) laudably
(D) legibly

3. Select the most appropriate meaning of the
given idiom.

To be off the book

(A) Tobein trouble

(B) To be trapped

(C) To be close to the target

(D) To escape a difficult situation

4. The following sentence has been split into
four segments. Identify the segment that contains a
grammatical error.

She asked her teacher / that it she could / explain
that / problem again.

6. Select the most appropriate option that can
substitute the underlined segment in the given
sentence. If there is no need to substitute it , select
No substitution required’.

‘

Aparna will need a bigger bag than | will to pack her
things .

(A) No substitution required
(B) a big bag than me
(C) bigger bagthanl

(A)
(B)
(€)
(D)

problem again

She asked her teacher
that if she could
explain that

5. The following sentence has been split into

(D) abiggest bagthanl

7.  Select the most appropriate synonym of the
given word.

Eliminate
(A) Lighten
(B) Include
(C) Darken
(D) Exclude

8. Select the INCORRECTLY spelt word.

(A) Shedule

(B) Sheath

(C) Shade

(D) Sheet

The elephant is Earth’s largest (1) ------- Animal,

although the Asian elephant is slightly smaller than
its African cousin . Elephants are (2) ------- Of water
and enjoy showering by sucking water into their
trunks and (3) ------ it all over themselves . An

elephant’s trunk is actually a long nose with many
functions. It is used for smelling, breathing,
drinking and also for (4) ------ things - especially a
potential meal. The trunk alone contains about
1,00,000 different (5)-------

9. (A) aquatic (B) arboreal
(C) Iland (D) aerial

four segments . Identify the segment that
contains a grammatical error.

The road was / wide and shaking / by rows of tall
trees .

(A)
(B)
(€)
(D)

tall trees

the road was
wide and shading
by rows of

10. (A) surprised (B) afraid
(C) proud (D) fond

11. (A) adjusting (B) smearing
(C) spraying (D) arranging

12. (A) organizing (B) grabbing
(C) trumpeting (D) destroying

13. (A) Intestines (B) muscles



(C) regions (D) tusks

14. Select the most appropriate ANTONYM of
the given word.

AFFINITY
(A) Attraction
(B) Inclination
(C) Weakness

(D) Aversion

15. Select the most appropriate word to fill
in the blank.
The government is making air bags for front

seat passengers in all cars.
(A) Temporary
(B) Registered
(C) Compulsory

(D) Suggested

16. Select the most appropriate meaning of
the given idiom.

Living in a fool’s paradise
(A) To be fooled by someone
(B) To live in a world of imagination

(C) To believe wrongly that you situation is
good

(D) To live in luxuriously after fooling
someone

17. In the sentence identify the
segment which contains the grammatical
error.

I visited my friend to whom I had
made an appointment.
(A) I visited my friend
(B) An appointment
(C) To whom
(D) I had made

18. Select the most appropriate word for the
group of words.
That which cannot be heard
(A)  Inaudible
(B)  Invisible
(C)  Incorrigible
(D)  Incredible

19. Select the most appropriate option to
substitute the underlined segment in the given
sentence. If there is no need to substitute it, select
‘No substitution.

Clearing the entrance examination for universities
abroad was the biggest challenge of my life.

(A) Is the bigger
(B) Had been the big
(C) Has been bigger

(D) No substitution

20. Select the most appropriate
synonym of the given word.

HANDY
(A) Convenient
(B) Hard
(C) Useless
(D) Clumsy

21. Select the INCORRECT spelt word.
(A) Science
(B) Technology
(C) physics
(D) Seenary

22. Select the most appropriate option
to substitute the underlined segment in
the given sentence. If there is no need to
substitute, it select no improvement.

Two senior officers have been
entrusted with the responsibility by
organize the reception of the guest.

(A)  No improvement
(B) For organize

(C) To organizing

(D) Of organizing

23. The following sentence has been divided
into parts. One of them may contain an error.

Select the part that contains the error from the
given options. If you don’t find any error, mark ‘No
error’ as your answer.

Thousands of people / in telangana are employed
on / the grantie companies.

(A) The granite companies
(B) Thousands of people
(C) InTelangana are employed on

(D) No error



24. Fill in the blank with the most
appropriate word.
The archaeologist made a

........... discovery.
(A)  Sensitive
(B) Senile

(C) Sensational
(D) Sensible

25.  Select the option that can be used as a
one-word substitute for the given group of
worlds.

In an enthusiastic way
(A) Heartily
(B) Unfeelingly
(C) Earnestly

(D) Encouragingly

26. AFar dufaf® 2021 & ARAT g #
tqerdigsd R a1fAd fFar ar €2

(A)  ARTCYA YA
(B) &d AR
() 3 RE

(D) WAl =TT

27. O GFA § TFAAT SiddT I8

T @97 3T Y’ & oI@eh i o

(A)  HACT I
(B)  FSUT Hieclr
()  3ifAdnT gy
(D)  oATER STEEr

28. HRA & Ugel 3Taler’ ol FEl &

(A) G @IS
(B)  faem@madH
(C)  VHRHA

(D) AR

29. USEYT guedr fgaw ford ot AaArm
ST &

(A) 7 AUG
(B) 3 AUG

(C) 13AUG
(D) 1AUG

30. fr=IfeiRed # & SF—A1 9RA &1 AREN T T8 57

(A)dadelt  (B)WiTer (C)effesy (D) #ife=iareH

31, T el SIe BRI fa wRdR 59 | Hefdd &7
(A) sREs (B) uf¥e €vmet (C) a’al (D) Feile®

32. 9xd™ A e (IMD) = ast 9 afear &ik
STl Ol WR § gfg & ded & fog —————

A U T dbd [AHRid 3 2 |
(A) siaceir smerRa gftewmror
(B)  werma amenfRe qargHr gftcwrr
(C) art amenRa gfewror
(D) ST TR qafgAr gftearr

33. A & RN & M /T 2?
(A) Afe Frate
(B)  ofezmm wrEie
(C)  srESIo Praie
(D) FfRrem e

34. Sy @ER =@ (Chavoth)’ faa R 59

(A) eRamen (B)  wrar  (C) afreaerg (D) eRta

35. f=faRad & 9 &9 a1 7i9ER urey 87

(A) I wEgU (B) BT TS
(C) ¥s 7uad (D) 3N

36. LED v &1 gl ®u @1 & RTa MR & oy
MMASHIRDT BT 2014 ¥ A YREBR Her?

(A) eirge vae=H feargw (Light Extension Device)

(B)egfAa uaIc=A fearsy

Device)
(C)  wsc uafdw srars (Light Emitting Diode)
(D) gfea ofes feaga (Luminant

Emission Device)

(Luminous Extension

37. fa=filRad § O Uoeta ST &) IIS1em™T B AT ofi?

(A) demgr  (B) fowm@muEEw (C)  wiEgRA



38. T 89 As Ry’ fdw <o # Rerq 87

(A)eifer  (B)@=m  (C)ff/m (D) sfernfomnm

39. =< &I fae Hedl' A1 Y | faTfoTa fapam
8?

(A) 10 (B) 12 (€) 5 (D) 7

40. TARR # B9 A1 3 (TRTS) WIS BT 87

(A) TER® TS (B)  |emid URis
(C) #ferd vfis (D) SIESIREANS

41. fefaRed § 9 &9 91 IHaR TuRT 87
twHfers (D) 2

(A) geerm (B)  @wsm (C)

42. ARG &F H f5d bR & aaf A Y | TS
ST 87

(A) zdefrw (B) @y (C) 9@ (D) 98

43. FM Xf&3i &1 uce foad sxmar ar?
(A) IREIIRSSI
(B) T el TS
(C)  vsfas va amivgim
(D) RIERSIKIECER]

44, R IS BIF B RO {9 R J gy oA?

(A) ~@ie (B) we™ (C) d§98 (D) dadden

45. firfafear 7R &9 80 82

(A) I AT ASIGR, il Y ST DT ATAT BT AT
IHM & T AT T B |

(B) SHID] T

(C) IOIR A WIS T s1fid

(D) JIAMID HOIGY
46. ST g1 af Adel & §ra ATIeT T BT GRITeT BT
g sy —— BT ST ©

(A) gfeRer (B)  UROT (C) das1 (D) YT

47. - gdf 9dd sfEen & wu # S A 2

(A) aRIgent  (B)  @rRm@RME (C) ferarfere
(D) Ueals UgTSAl

48, I 2022 ®, ARA A HETT Foll (HE)

viefafaar fr amra Fr w7 FE dr Rar 7
FH F & v B dor & @y 3wy a7
(TANHTE) TN gEAeR fFu?

(A)  STHST

(B) 3freeforar

(C) SaTeT

(D) SHAHATH

49. 3NgHCHEIG MSNT hasst Fi
F T H afAg frar = §

(A) TSI T
(B) NI ARAT

(C) IR oRH

(D) ISRIT FEraH

50. ®WG TERY F Aha & faw Tod gam
9o (RPF) G@RT HieT T 3iTovereT & fmar o
g2

(A)  3ifoXerer el

(B) 3TURerT TUTEE!
(C) 3ATIAT UEE
(D) 3T &y

51. fau 1w 3m+s 29, 27, 32, 23, 18, 18, 32, 31,

28, 15, 35,30, ? T ATCTHT 4T ¢
(A) 29.5
(B) 30.5
(C) 28.5
(D) 30

52. fy=foRad arforer &1 s oY 3R U39 &1 Sk < | U IRl
Y wer # wfid g BH @1 W&

ey BEl @l HEAT| Il 3N Il
(& 9) BHEI &1 AU

A 54 5.4

B 126 4:3

C 84 10 - 11

D 06 9:7

F 132 6.5




B3R E ¥l 4 o @ Bl 0l o1 6T & gareel e A 3R
D & wen # Il BT @1 ot W@ BT AU R/ T ?

(A)  14:19
() 13:18
(€ 5:9

(D) 9:16

53. 31 4wl 16 T 20 B HEwH FAIIGCD AT AT FHIIAR BT
UG HIT B
(A) 1:20
(B) 1:25
() 1:10
(D) 4 :63

54. 5 awEmeil o iad 26.4 2| ugel den, 9y 4
T3 B ART & Urad fx & SRI6R 8 | Ugell AT ST BT |

(A) 21
(B) 22
(€ 23
(D) 20

55. Rs.7,500 &1 &R WR 4 99 F U Abglg AT
(Rs. #) =itd &, If< ygM 31 98 & forw &t & 20% a1fie
2 31 31Tet &I a¥ & fory &rel &% 10% a1 7 | (a1 1 Tor1
IIfier THgfe MR W= B 2 )

(A) 6,558

(B) 5,586
(C) 5,658
(D) 5,568

56. @IE gHMER, f&0 9vg & sifdd qeg R 10% Be
@ 918, 9% BT dEPR 17% o™ UK AT © | I a%g B
%9 7og Rs.480 7, a1 avq &1 sifsa gea (Rs. #) s1d & |

(A) 600
(B) 624
(C) 636
(D) 640

57. M 94 93 IR Y BIC WIfAd 719 &1 oG
a W, e forg | 5m83mdml, 9% fanrsyr 87

(A) 10
(B) 16
(C) 40

(D) 80

58. 80 ol 3R 10 wmeq afddqal darell drRigmar #,
BRI & ofd § fAers fadRa & 718 | ude o &I fHerE
R %1 & fon @4 @1 T ¥ BrEl &1 | w2 &1 30%
off IR UR% AAEH Afdd & oy T @l 715 T Fe BTAT Bl
wer &1 40% off | BRI | fAors fadrer & forw wd @ g
qel IR S B |

(A) Rs.2,440
(B) Rs.2,240
(C) Rs.2,400
(D) Rs.2,420

59. e P, {5l @l &1 6 € # ¥R |Waha € IR 7 Q
T g8 <) dr 10 6 H Wrell o) weher 8| afs P 8k Q <=t
Tl BT U | @il Sl &, 91 @rell <al, qof w9 4 fas
He # w?

(A) 16
(B) 12
() 18
(D) 15

60. @13 gPMER, RS.222 % 12 & eI R §B Alcgd
wIed § SR Sl 8 |l | Alegs RS.225 % 10 & g W

dedr 7| afk a8 ¥ Aiegs 20% & @ IR 99T 7, aF 15
Arcgd BT B g =1 BN |

(A) Rs.376.5

(B) Rs.369
(C) Rs.360
(D) Rs.302.40

61. Rs.9,400 @1 ¥ &1 A, B3R C & d191 39 UdR
Qaeroare fe AsiRBas RRI drarua4:3 gaar B
IRCo fR w1 agua 5:48| Co Ry # faet i
amufi?

(A) Rs.2,200
(B) Rs.2,400
(C) Rs.2,600
(D) Rs.2,000

62. i Afed T 92, 9 3R I TS B A,

Rs.1,05,750 @1 1f3r |TemRer =197 WR 59 bR g axar
2 fb S B9 3, 4 3R 5 9¢ 97 FHE IS 9T BT B | A

1ot <% 5% a1ff® g, 1 ueit & forw fHaer &1 7€ <ifdr sid & |
(A) Rs.30,000




(B) Rs.25,000
(C) Rs.27,000
(D) Rs.28,000

63. f=fifad aed &1 79 91d B |

45 — [36 — {29 — (25 — 7 + 4)}]

(A) 22
(B) 28
(C) 26
(D) 24

64. 48 km/h =ra ¥, Xg Ui ATAT BT 2 He 28 A
H ORT B H We™ © | AfE g8 ST X BT 1 €T 36 fAAe H Y

PRAT EAT ©, I ST T8 o1t fbadr g1 arfRe?

(A) 66 km/h
(B) 64 km/h
(C) 72km/h
(D) 74 km/h

1
65. AUs dE B 72 et % v Wt £ 9k B 98 o
1 i

% Hel % o wHar ¥ | OFR A UH 1Y %2 ot q P B
g Al & &7 fhdar 91T A9 g9?
4
(A) >

1
(B)

o W

(€)

RN

(D)

2175 cm?

66. & w9 & fado &1 T f HkE!

BT Hel TS aFpe (cm’ ¥) S B |
(A) 4305
(B) 4350
(C) 4272
(D) 4530

67. =T 3TTelg T 10T B 3R 39 91 AU T y3+
P IR < |

= fawat (wrfora, ool siik wifoa) # dof= sl (A, B,
C, D3R E) garT ur<t fg 17 3ids

D &1 71T &R #iifcrast 3 fiet got ofat a1, B @7 siroh
IR Hifaar # B gt st | U aar 272

(A) 7:14
(B) 9:14
(c 2:7
(D) 14:13

68. uafaw, fasa, Al 3k SR dAreafie Hersll &
BE 7 8d Y & U @ar veha fear oar & g

1 F AT T B | A FAse wermail | Ut fopar am =T
Rs.6,750 or, a1 wreafie derail &1 goir |

e wefrell gaRT fohdAr o1t o aa foar ar?

(A) Rs.1,125
(B) Rs.6,075
(C) Rs.2,025
(D) Rs.675

69. af fram 19 km/h & 1fcr &1 Terar 2, @ 665 m @
T F A Y fhaa w7 (e #) eenm?

(A) 3



70. 6-[{
20 1. 4 6

.1y ,48 6 5
(ﬂTz:H_Ea ?}{}flﬂ 7]

WA A S B |

Gl

(A) 12
(B) 0
c 9
(D) 13

71. Rs.12,384 a1 <t &1 A, B, CikR D& dg 59

HR faifora far smar © f6 A iR B & fewdl &1 srguma 3
42 BaIRCoH el draqua 5: 68 iR CaiR D&
el &1 orgurd 8 : 97| C &1 fRwar ad & |

(A) Rs.2,880
(B) Rs.2,160
(C) Rs.3,888
(D) Rs.3,456

72. g 9 9 BR 30% @I B R 99 <7 | Ife A
39 Rs.950 31fdres & =7 Biar a1 S9dT 8% T o1y UTed BIaT |
T oI T 87

(A) Rs.2500
(B) Rs.3500
(C) Rs.2000
(D) Rs.1500

73. 1S g H, 60% Fa<rar goy & ok AT ARy
2140% oy FReR g 31k 25% Afeard |eR & | AR At
@1 g ¥, FReR ol @ e fodq ufderd «ifde 8?2

(A) 115%
(B) 125%
(C) 120%
(D) 140%

74. T 9IS AR B UG 1344 2 SR IS

I 7112 %1 5 SIS A §id b |
(A) 112
(B) 16
(C) 28
(D) 48

75. UF e fagar wxE & 9 A et J s
3fITTT WIeAdT & | I8 <@ AT 8 b efaR iR MQaR & 1

% forg ST gt aivrd faer Rs.300 &k 2, 3fiR o uf= o=t
% forg gt fa! a1 o Rs.200 & | wIfFaR & g% 8 atel
T 7EH H, T8 9 a6 ot e Rs.7,000 oft | ag wET

fFfaRad 5 | $19 A1 8 Gl 87
(A)  H
(B) aiw
(C) ==
(D) wad

76. 9 AHM BT AT DI ST RAIfbT AT SRl
H yearas e (?) & e W

I |
EFRIOCOOOOOOrR O
O0OceEoooOooony 2
(1 01 N0 O O)CT el elife] (1 0]
O0and
ool
(A) Doo (B)
OO0«
alols
(C) (D)

77. 39 ee &1 99 IR e &1 18 arafd
siafifed & (GAM &1 orgAfd Tl ©) |

AY
\

(A) [ \S’z (B) ==




V//\

beX |, B
(©) "’ () =

78. Ife Tdo &1 AU T WA & TS MR @I 1Y, ol
FASTE BT ggor § fAffg @1

gfcifed zraferd BTy |
&VECTORANaLYSIS2

w SARYIAVEAOTHAV S
5 EAECLOBIAVT A2125
o FAECLOBVUIT AZI2S

CeleY IsVIAAOT2dV

(D)

79. 9 fd@eq i BT 9 BIfoTg il s sirapi
sRgar H gedarasd o (7) &

I W AT &R T Bl g=7 HfY |

N

N

Lol

80. U FITS B AR AT 3R ®Ter T 8| 39
Wle W I8 dar fagm?

A Y

T

;...-r E...- T l[:]
- “v - ' ’_:3
- : - - e
1 1 ] R V]
] . ] ] L}

b l— - - .

- (] 000
i; 8 G d Q00O
| @) sEzNoNe

0

=00 00
>0

>0

|
400 O
Lano [

Elsle

-2 Ol

3
-2 <

<100

(€) (D)

81l. 9899 R g Sl 7 a0l & g & Hag BT FaA
3 T ¥ Aefia HRam € |

3T, PN Pl AR, FHH

(A) I (B) g

(€) (D) j

82. ftl udkj "ukvd" “vikurk' I Bcf/kr g] mih
idkj "duiv "&&&&&&" I Licf/kr gA

A) Il
(B)  fi;kuk
(C)  fHEQuN

(D)  Ixhrdkj

83. ml fodYi dk p;u dj] fele: L[;k&;Xe dh
L[k, ,d&nlj L Bhd mlh idkj Kcf/kr

ugh g] fel 1dkj in, x, B[k ;Xe dh B[k,
;d&nlj I Icfikr gA

9:738

(A) 7:350

(B) 6:222

(C) 8:157

(D) 4:681

84. ml fodYi dk p;u dj] tk rilj v{kj&leg L
Bid mih idkj bicf/kr g] fel idkj nljk

v{j&leg igy v{ij&leg It Lcf/kr gA
COLD: GTRK::MICE:?

(A) QMGL

(B) QNIL

(C) RMGL

(D) QNGL



85. IR de-f& fiy v g o 9 39 o e
T © 3R Th GTd B | 9 ST

HAHT—3® BT =TI BN |
(A) 24,31, 1636
(B) 17,18, 6481
(C) 72,14, 2581
(D) 43,12,949
86. IR v fIy Y E, 7 | AF v FiRed geR 9

T €, STdfd Uh I IFId 2| B NI
& BT AT HITT |

(A) T
(B) Rara
(C) =
(D) el

87. fr=faRed IR vt § & (9 g ousy ® U Hf¥Ea
TS H FHAMAT WA & MR TP [T 8 | 99
IR IMeE BT AT DN |

(A)  gom
(B) id
(C) sw=i
(D) e

88. =R ser—uge fau v B, f5 A A9 B0 R
TAE 8 IR U@ =1 2| T QleR —9g &1 I N |

(A) BIPV
(8) DLRT
(€) HKMR
(D) FMNQ

89. uw fafed @ W ¥ aft EXTRNSIC &t
CIXESNRT forar <irar 2, at 9t e«
# LEFTWING ot 7ar forar smeam?
(A) ELGNTFIW

(B) GNIWTFEL
(9} GNELIWTF
(D) TFELGNIW

90. 3fe ‘DONKEY’ &I ‘88’ & wu H qerr
‘SPARROW’ &1 ‘79’ & w0 § fcdg fopar
Srar 2, @ ‘PEGION’ &1 foa w0 # dedg far smom?
(A) 73
(B8) 91
(C) 96
(D) 85

91. IRT>H>K>L3IRV<K<Z=Bg af=#d
P31 Tpy T8 T8l 87

(A) K=B
(B) V<T

() T>L

(D) H>Z
92. 39 3R HIH & 99 o, o &1 718 4100 & @relt
I H Bie ®U H @ W
Sioft g 81 e |
ca_b ac_bc cbb
(A) ccbac
(B) cabcc
(C) ccaab

(D) cbcba

93. foelt AR¥Eq g W #, afq 4+ &1 s1ef W, ‘X @

e ‘gerr, ¢ " T aef TS’ AR

f

__"aﬂ 3l U’ €, Ar 1 ST BT A ST N |
(BODMAS &1 S7ai o)

24+6—2+4><2

(A) 13
(B) 12
(C) 25
(D) 10

94, fUu Y UcH BT &9 W JETIT PN IR S F&AT Pl
9 X ot 9o forg (?) & WIF WR ST 9! © |

9779
7.8 71
697
(A) 69
(B) 71
(c) 74
(D) 66

O5. 9 &I Us dIifbd AR ARG &H H JdRUT BN |
W HHS
e

W e



U ATedRI BT

(A) 1,1V
(B) LIV, I
© 1L N, 1V
(D) 1, IV, 1, 11

96. - FER—wE, T EeR—aoft § yeaEs
e (?) & wImE R omg?

WAS, YCU, AEW,?
(A) GKC
(B) CGY
(C) HB

(D) HLD

97. U U ol iR fspul bf eur | U | JMYBT B!
H & TS IEER B g AT

2 Wl B 9 I Sa a9t & e gdfid @, ek R
IE TI BRAT & b B9 A1 /B

A py UaxT Bl BT dlfdhed WU I ARV BT
2/ B |

HU:
fl TR ST g 2 |
O AR TS 2 |
forsap:

W H HSATA Sl S ¢ |

w J{ GfSATe STelid g 2 |

W HY Tl g afedre g |
(A)  Baet Frepd | el 11 srgerer oxa )
(B) el frspd 11 3R 111 argemer ot &
(C) @ae fepd | srgaver ol €|
(D) o sy | a7 fospd 11 SrgeRoT vl 2 |

98. a1s f9ar gfaffr U, V, W, X, Y iR Z 8 gaMi
A IS M W S o H g

TR S BT AISHT G411 © | g8 777 el & SR 3 &
& foy e wrieH FRiRa

PRl B

g I ghH U W, VIR Z ¥ vgal ST =1y |
qqo I g VIR Y 9§ U8 ST @y |

goqo I fORT TR g W 1T § 98 X BT ARy |

99. fawafaf@a ersal #I arfFs ik ardqot
HH H cHIegd W ?
1-H1.U%. Ud. ded  2-d¢d 3-dATded 4-FATE F1
dg& 5-td.$.8 e

(A)

(B)
(C)

4-3-1-2-4-5

3-4-1-2-5
4-3-2-1-5

(D) 3-4-2-1-5

100. i IT Aweq feU ereeY & 37 WE FA
# gofar &, 9 F7 & § 3AS) YschT A
frar$ & 2

1- Dovetail 2-

Domestic 3-Dominate

4-Donate 5-Dorsal

(A)

(B)
(C)

2,4 35,1

1, 3, 5, 4, 2
2,3 45,1

(D) 2, 3,4, 1,5

Answers:

1.A (2)D (3)D (4)C (5)C (6)
A (7)D (8)B (9)C (10)D (11)
C (12)B (13)B (14)D (15)C
(16)C (17)c (18)A (19)D (20)
a (21)D (22)d (23)C (24)c
(25)A (26)a (27)D (28)A (29)
A (30)B (31)D (32)B (33)B
(34)B (35)A (36)C (37)C (38)
A (39)A (40)D (41)D (42)B
(43)C (44)C (45)A (46)D (47)
D (48)B (49)A (50)B (51)C
(52)A (53)A (54)B (55)D (56)
B (57)B (58)B (59)D (60)B
(61)B (62)C (63)D (64)D (65)
B (66)B (67)B (68)D (69)B
(70)A (71)D (72)A (73)D (74)
C (75)B (76)C (77)B (78)D
(79)C (80)B (81)D (82)D (83)
C (84)B (85)B (86)D (87)B
(88)B (89)C (90)C (91)A (92)



D (93)C (94)A (95)B (96)B
(97)A (98)D (99)C (100)C



